e a s ok - 4 b skt e e - 34460 -
102#F = 7% A ﬁ A j’:;/ \:1-%5‘-:— ’5‘;’[; \:24%‘? A2 R/ 36760 - F
B R ASd 8RR
il P askiyry
FEPERF L 2 P R BE
i (—)*ﬂ* LTI RE
O3 L4 EF PERATITR R B R BT B A 1 SRR TE 0 A3 A o

i

SN

COFRE 8 F A 2 R i 2

e mEE AL e B2 R o (10 4)

fﬁm‘» SRR E A R WP A EE (Sauerkraut) 2 pE AR o
(10
T AlE LA A K2 W B gl o (518 4 0 £ 40 4)

)% 5 R
7 Bk

(-)]’E" /rf)“ *]S%:]‘/
(EY
@t 2

2 R %o (10 &)
CHRP R SRR AT e (104)

Fp ATP e R ipl %2 (ATP photometry) 2 RIZ ~ & 4rinfe2 B+ 50 & 4 2 47 -
(20 &)



